

Normal Distribution


 What is the Normal Random variable? 
- A continuous random variable "X" is said to be a normal random variable. If its range is [image: http://www.aladwaa.com/QBImg/STE12/STE12SNBS.gif]and its probability density function has a bell-shaped curve. 

[image: http://www.aladwaa.com/QBImg/STE12/STE12SNBG.gif]
What is the standard normal distribution with [image: http://www.aladwaa.com/QBImg/STE12/STE12SNBK.gif]
[image: http://www.aladwaa.com/QBImg/STE12/MTE123632.gif]
 If Z is a standard normal random variable , find: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123634.gif]
[image: http://www.aladwaa.com/QBImg/STE12/MTE123635.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T004.gif]

 If Z is a standard normal random variable , find: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123637.gif]
[image: http://www.aladwaa.com/QBImg/STE12/MTE123638.gif]
[image: http://www.aladwaa.com/QBImg/STE12/STE12T002.gif]

 If Z is a standard normal random variable , find: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123639.gif]
[image: http://www.aladwaa.com/QBImg/STE12/MTE123640.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T003.gif]

 If Z is a standard normal random variable , find: 
iv) P(Z≥ -0.84)

[image: http://www.aladwaa.com/QBImg/STE12/MTE123643.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T002.gif]













 If Z is a standard normal random variable , find: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123651.gif]
[image: http://www.aladwaa.com/QBImg/STE12/MTE123652.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T008.gif]

 If Z is a standard normal random variable , find: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123654.gif][image: http://www.aladwaa.com/QBImg/STE12/MTE123655.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T009.gif]

 If Z is a standard normal random variable , find: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123656.gif]
[image: http://www.aladwaa.com/QBImg/STE12/MTE123657.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T002.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T004.gif]

 If Z is a standard normal random variable , find: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123658.gif]
[image: http://www.aladwaa.com/QBImg/STE12/MTE123659.gif]


[image: http://www.aladwaa.com/QBImg/STE12/STE12T003.gif]






 If Z is a standard normal random variable , find: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123660.gif]
[image: http://www.aladwaa.com/QBImg/STE12/MTE123661.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T005.gif]

 What is the value of the real number k which satisfies: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123663.gif][image: http://www.aladwaa.com/QBImg/STE12/MTE123664.gif]

 If Z is a standard normal random variable. Find the value of k , if: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123665.gif]
[image: http://www.aladwaa.com/QBImg/STE12/MTE123666.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T004.gif]
 

If Z is a standard normal random variable. Find the value of k , if: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123667.gif]
[image: http://www.aladwaa.com/QBImg/STE12/MTE123668.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T005.gif]

 If Z is a standard normal random variable. Find the value of k , if: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123669.gif]
[image: http://www.aladwaa.com/QBImg/STE12/MTE123670.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T003.gif]
 














If Z is a standard normal random variable. Find the value of k , if: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123671.gif][image: http://www.aladwaa.com/QBImg/STE12/MTE123672.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T007.gif]

 If Z is a standard normal random variable. Find the value of k , if: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123673.gif]
[image: http://www.aladwaa.com/QBImg/STE12/MTE123674.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T003.gif]


 If Z is a standard normal random variable. Find the value of k , if: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123675.gif]
[image: http://www.aladwaa.com/QBImg/STE12/MTE123676.gif]
[image: http://www.aladwaa.com/QBImg/STE12/STE12T001.gif]
 
If Z is a standard normal random variable. Find the value of k , if: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123741.gif]
[image: http://www.aladwaa.com/QBImg/STE12/MTE123742.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T001.gif]















 If Z is a standard normal random variable. Find the value of k , if: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123743.gif]
 If Z is a standard normal random variable. Find the value of k , if: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123744.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T001.gif]

 If Z is a standard normal random variable. Find the value of k , if: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123745.gif]
[image: http://www.aladwaa.com/QBImg/STE12/MTE123746.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T001.gif]














 If Z is a standard normal random variable. Find the value of k , if: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123747.gif][image: http://www.aladwaa.com/QBImg/STE12/MTE123748.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T001.gif]

 If Z is a standard normal random variable. Find the value of k , if: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123749.gif]
[image: http://www.aladwaa.com/QBImg/STE12/MTE123750.gif]














 If X is normally distributed with [image: http://www.aladwaa.com/QBImg/STE12/SYMBOL01.gif]= 50 and variance 100 Find: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123679.gif]
[image: http://www.aladwaa.com/QBImg/STE12/MTE123680.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T003.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T005.gif]
 If X is normally distributed with [image: http://www.aladwaa.com/QBImg/STE12/SYMBOL01.gif]= 50 and variance 100 Find: 
[image: http://www.aladwaa.com/QBImg/STE12/MTE123681.gif]
[image: http://www.aladwaa.com/QBImg/STE12/MTE123682.gif]

[image: http://www.aladwaa.com/QBImg/STE12/STE12T007.gif]
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